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Course : 501
( Elementary Statistics for Economics )
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Pass Marks:32

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. u% Sawhr Mk Sfiear/Te 0 ¢ 1x8=8
Choose the correct option/Answer the
following : o

(@) =TT ARFTS ST HES
Direct personal investigation is related
to

) P IR TS / Index number

(i) N9 OUR AT / Secondary data
(iii) CTF SYI 7S / Primary data
(iv) SRR SUF FS / Government data
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(2)

(b) ALY @ MR % Refy IS 9T TN
w2 ' '
Which formula is not used to calculate
arithmetic mean?

) S
{0 N

) A+
(i) A+ N
(i) == .
(iv) %Zx-
(c) R R @O AR—M ORI YAl
"

Which concept in statistics is shown in
percentage?

i) s T / Geon;letriclmean
(i) ITF / Mode
(i) 3FF 7AW / Index number
-(iv) @9 / Range

(d) ﬁw«@mmﬁwmﬁwﬁm

Coefficient of variation is related to
quartile-deviation. -

() =/ Yes
(i) "4/ No
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(3)

(e) TS fRAl FMIH! Rewwetory ot 71 2

Which of the following is not a measure

of dispersion?
(i) o Reem
Mean deviation
(i) [T TE
Harmonic mean
(iii) 2R
Range
(iv) TBTELE o
Interquartile range

H ORI Sdr: )
Show in percentage : ‘
l X 5_0. =7
2 50,
() F IR el e
Index number measures
) <o wm
national income
(i) R MW T
cost of living
(iii) MR Teomw
agricultural production
(iv) Fcmsm «fkar

rate of employment
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(4)

(h) &S +'o7 T Pofaq foFR 2°=1 -
.. Exit poll findings are based' on

fiy TR e o

random sample of universe
(i) TR oyl e

complete survey of the universe
(iii) >R RS

quota sample of the universe

(iv) 8°%J <bie =W
None of the above

2. R R @ wiR 55 O By (afegsr
150 =¥} fSo%®) : 4%4=16
Write short notes on any four of the followmg
(within 150 words each) :

(a) =fE U

~ Primary data

b TRFay
Arithmetic mean

() v Rpfd
Quartile deviation

(d) O o
Rando_mv sgmp]ing

(e) TPF RIT IRZR
Uses of index number
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(5)

3. (o) oS Y AR CMT SR TG AL @R

4.

(b)

(@)

WA @Ry o e 7 RROEE e[
BI-PAPReR v wag e oifEe e
off¥vy wRtel Ot & & o MR FRA? 4+1+6=11
Distinguisi'l between primary and
secondary data. Which one is reliable?

‘What information or data, you collect

from the students of a college to know
the family background and academic
aspect of the students?-

YT/ Or ‘
YR IR WF OFRRRIE WS oY
Bt | 93 oA Rfew e @b ST
i 4171 A 5+6=11
Distinguish between classification and

tabulation " of data. Illustrate the
components of a table with an example.

N 9F IR i _iipe W
aﬁqmmma‘im@t AT I T4

o, A A , 4+7=11
Define median and mode. Explain how
these measures are calculated in case of
ungljouped and grouped data.
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5.

(6)

w4qr/ Or

(b) =TS Al SIPTYI o MARE T W Ty

(a)

Aefg 71 5+6=11

S

Calculate Arithmetic Mean and Median
from the following data :

o

o Tgf? 2R
Daily wages No. of Workers
20-30 S
3040 15
40-50 28
50-60 42
60-70 15
70-80 12
80-90 3
Rewota 2 e Refa w1 1o & R

e R wF amie Reerm sRw we

“IRYPIE T @ | 2+3+6=11

What is dispersion? What are its
measures? Mention the merits and
demerits of mean deviation and
standard deviation.
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Pl

(b)

(b}

(7)

S24r/ Or

oo T SR 2[1 AMIfaE [{oew Mg <9 - 11

Calculate Standard Deviation from the
following data :

A R3]
Class Frequency
30-40 1
40-50 4
50-60 14
60-70 20
70-80 22
80-90 12

90-100 2

TIRF FIE @A ? WE (AR Ao Ted
CRE A =0T 41 | 2+9=11
What is Index Number? Explain the
various problems involved in the
construction of Index Number.

o</ Or

o Y AFR fes () Emed O
(ii) o= w{ @ ecmet IR 2013 v AE
o0 RS el 4 5+6=11
Calculate Price Index Number for the
year 2013 by using (i) Laspeyres and
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(8)

(ii) Fisher’s Ideal
following data :

Index from the

77 g A
Goods Price Quantity
2013 2012 2013 2012
A 10 20 100 50
B 20 40 200 100
C 15 30 150 75
D 22 44 220 110

7. (a)

(b)

7777 (32T©)

I I @ ? TR R[fen cmfers
e T = 1
What is interpolation’? Explain the
different methods of interpolation.

241/ Or

RS SR AT FRITS O SXEIFE ol
16 %99 Giae9 o facfy <

Using an appropriate formula for
interpolation, estimate the expectation
of life at the age of 16 years by using the
following data :

10

15

20

25

30

Age (in years)
Eigerd 2T (T2T9)

2+10=12

12

35

: 354 323 292 26:0 232 204

Expectation of life (in years)
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